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Q1. Edit the following paragraph:

Dal Lake is situated at Kashmir.

Tourists from the world come here to enjoy

The amazing view of the lake. With autumn,

The weather of this place becomes amazing.

From winters the peaks get covered with snow.

Kashmir is a spectacular place of visit.

Q2. Underline the Phrase and mention its kind in the given sentences:-

i) The girl with the black bag is my sister.

i) My mother has been watching this movie since morning.
iii) We were not seated in the cinema hall.
iv) | am going to stay here till noon.

V) Once upon a time there lived a lion in the forest.
Vi) This place is quiet and peaceful.
vii) My necklace is made of pure gold.

Q3. Underline the clauses mentioned in the sentences. You may also find more
than one clause in some of the sentences:-

i) As the teacher entered the class, all students stood up.

i) She was born in England but she grew up in Scotland.

i) We should plan for this weekend as the previous week was too hectic.

iv) There were brightly coloured leaves all around her, because iot was autumn.
V) He lives in Manchester, which is in Europe.

Q4. Join the following sentences using appropriate Relative Clauses:

)] We are sure. We need more time.

i) | have made a mistake. | apologize for it.

i) Shalini is a great artist. We met her yesterday.

iv) | was about to reach home. My car broke down on the way.

V) We decided to plan our holidays. We are going to Italy this time.
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Q1. Answer the following questions appropriately:

i) Any three moderates-
i) Any three radicals-
iii) In this session moderates and radicals were united again-

iv) Any two revolutionary groups-

V) The Act which prohibits the manual scavengers from picking up human
excreta-

Vi) Two examples of Agro based industry -

vii)  Major Iron producers countries-

viii)  Major cotton producing industries-

Q2. On the basis of your understanding, define the following terms:-

Industrial Revolution, TISCO, Pastoral Based Industries, Marginalized Groups

Q3. Answer the following questions:-

i) Examples of Mineral-Based Industries —
i) Types of labour -
iii) Important factors of setting up an industry —

iv) Modes of transportation-
V) The Act which prohibits Dowry in India-
vi) The Act which gives protection to women against domestic violence —

Q4. If you want to set up an industry, what facilities you will consider for setting
up of the industry?
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Q1. Fill in the blanks:

)] The two diagonals are not necessarily equal in a

i) The sum of two angles in a parallelogram is

iii) The diagonals of a rhombus bisect each other at angles.

iv) If the opposite sides of a quadrilateral are equal, then itis a

V) Two adjacent angles of a parallelogram are (2x + 25) ° and (3x - 5) °. The
value of x is

Q2. Name them:
i) All the sides are equal and one angle is 60°.

i) All the sides are equal and one angle is 90°.

i) The diagonals are unequal and the adjacent

Sides are equal.
iv) The diagonals are equal and the adjacent

Sides are unequal.

Q3. On the basis of understanding of the chapter, solve the following questions on
probability
i) A die is thrown. What is the probability of getting a 6?

i) A die is thrown. What is the probability of getting an even number?

iii) Two coins are tossed simultaneously. What is the probability of getting one
head and one tail?

iv) In a spinning wheel, there are 3 white and 5 green sectors. What is the
probability of getting a green sector?

V) From a well-shuffled deck of 52 cards, one card is drawn at random. What is
the probability that the drawn card is a queen?

Vi) In tossing a coin, write all possible outcomes.

Q4. Define with proper figures:
i) Parallelogram
iM) Trapezium
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CHOOSE THE CORRECT OPTION FROM THE BRACKET :-

1. Eardrum is a part of
a. Sound producing organ b. Skeletal system c. Hearing organ
d. Reproductive organ
2. The hearing range of human ear is
a. 20 Hz to 20,000 Hz b. Less than20 Hz c¢. More than 20,000 Hz
d. 20 Hz to 25,000 Hz
3. The voice box is called:

a. Stomach b. Heart c. Larynx
d. Mouth
4. Large amplitude of sound vibrations will produce:
a. Loud sound b. Meak sound c. Slow sound
d. Shreak
5. The pitch of sound depends on
a. frequency b. amplitude c. both of these

d. none of these
6. Sound is kind of

a. Work b. Energy c. Force
d. None
7. To an fro motion of an object is called
a. Waves b. Amplitude c. Vibration

d. All of the above
8. Voice box or larynx of human process
a. Sound b. Wind c. Loudness
d. None
9. Sound propagates maximum in
a. Gas b. Liquid c. Solid
d. All
10. Noise pollution is harmful for
a. Human b. Cat c. Bird
d. All





